At the National Song
Titles there are 56
groups with 5 singers in
each group. How many
children are singing at
Song Titles?

RB manufacturing
received an order to
make 7 bibs for each of
the 69 teams in the local
competition. How many
bibs have been
ordered?

Each metal beam —— kg
weighs 76 kg. The crane
is lifting a load of 8
beams. What's the
weight of the load?

A rectangle (Length =

59 cm, Width =6 cm) To

calculate the area of any 59 cm
rectangle multiply the 6 _
length by the width. ¢

What is the area of the Hot o seqle
rectangle shown?

7 sticks are needed to
make a heptagon. How
many sticks does a
teacher need for 34
students to each
construct a heptagon?

Name:

Dr Davis earns $55 an

hour. How much does
she earn for working 9
hours?

Each kit costs $99. The
club president orders a
new kit for each of the
12 teams in the club.
What is the total cost?

There are 6 wards at the
hospital. Each ward has
67 beds. How many
beds at the hospital?

8 Bendy Cords are used
in the making of this
craft spider. How many
Bendy Cords are needed
to make 37 spiders?

6 classes each with 25
students went on an
excursion to the
rainforest. How many
students went on the
excursion?

Multiplying two digit numbers by a one digit number: 1 pate:
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